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QUESTION 1

Refer to the exhibit. 

What is a characteristic presented in the service profile of the UUID? 

A. based on the hardware 

B. vendor assigned 

C. unique system generated 

D. allocated from a UUID pool 

Correct Answer: A 

There is no parameter for \\'set identity dynamic-uuid\\' to specify a pool name-you can only state "derived" or a 32 hex
character string (128-bits, therefore full UUID). ucspe /org/service-profile # set identity dynamic-uuid derived Derived
FFFFFFFF-FFFF-FFFF-FFFF-FFFFFFFFFFFF Dynamic UUID The documentation, as usual for Cisco, is poor. Shagua
references old v1.4.1 documentation but it\\'s the same in 4.1. It\\'s inaccurate as uuid-pool should now read uuid-suffix-
pool. You can use UCSPE to check the CLI with contextual help. ucspe /org/service-profile # set identity dynamic-uuid
Dynamic UUID dynamic-wwnn Dynamic WWNN uuid-suffix-pool UUID Suffix Pool wwnn-pool WWNN Pool If set identity
dynamic-uuid only gives us the option of a static UUID or the parameter "derived", and set identity uuid-suffix-pool is the
option to assign a pool... I would suggest that the most logical answer here is -derived from the hardware. https://www.ci
sco.com/en/US/docs/unified_computing/ucs/sw/cli/config/guide/1.4.1/CLI_Config_Guide_1_4_1_chapter27.html 

 

QUESTION 2

An engineer must create a scheduler configuration to create two backup jobs per day. The backup file must be copied to
a server in the operations VRF. Which configuration accomplishes this task? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit. 
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A secure server that provides services to EPG-2 must be placed in EPG-1. The remaining EPGs--EPG-2, EPG-3. and
EPG-4--must communicate without any contracts. Which set of actions accomplishes this goal? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

QUESTION 4

An engineer is seeking the most optimal on demand CPU performance while configuring the BIOS settings of UCS C-
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series rack mount server. 

A. C0/C1 state 

B. C6 Retention 

C. C2 state 

D. C6 non-Retention 

Correct Answer: A 

https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/c/sw/gui/config/guide/4_0/b_Cisco_UCS_C-Series_GUI_
Configuration_Guide_for_S3260_Servers_40/b_Cisco_UCS_CSeries_GUI_Configuration_Guide_for_S3260_Servers_4
0_appendix_010011.html 

 

QUESTION 5

An engineer must build a lab replica of a Cisco UCS production environment. The file must be imported into a new
Cisco UCS cluster using a Cisco UCS manager GUI. The file must be in XML format and be exported from Cisco UCS
Manager using encrypted method. 

Which two configuration parameters should be selected to meet these requirements?. (Choose two.) 

A. Type: Logical configuration 

B. Protocol SCP 

C. Type Full state 

D. Protocol TFTP 

E. Type All configuration 

Correct Answer: BE 
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